713d A E2HE A
719 - A E Rk 4] 9% (9] - 212
Z [e) 1=}
gopzg 22| B3| 2% Aol %A% e N 202411 () | 20239(B) | F7HA-B)
a7 47,113,212 51,180,007 24,066,795
s 43,826,370 48,562,925 24,736,555
SolUzZE g S 39,426,812 47,241,915 27,815,103
QALY & 60,353 47,421 12,932
A YA F7 3} 27,388 30,206 22,818
TYAS=99 13,656 17,656 £4,000
ngAEATF 9,802 13,802 24,000
7h S gAd 5,668
1) 98 210-01 |50,00091 % 11% x 23] = 1,100
2) A=A = 210-01 |4,0009 X 50%-= 200
3) AT (LD 800
b 7 E 210-06 |100,000€ X 2 X 247k x 23] = 800
4) 915 210-06 |14,00090 % 3u] X 11 X 24| 7k x 23] = 168
5) Al e 210-07 |300,0009 x 14 x 23] = 600
6) 225 210-07 |700,0009x 1t} x18]= 700
7) A& 210-15 |15,0009 x50 x 23] = 1,500
8) o] 3 230-02 |15,0009 x40 = 600
LR s R A R <y 4,134
AR 210-01 |50,0009 x 15%= 750
2) Zp= A= 210-01 |4,0009 X 50%-= 200
3) AT (LD 200
7h 71 210-06 100,000 X 17§ X 2413k x 1 3] = 200
4) 98 210—06 14,0009 X 3w X 11 X 22|13k X 18] = 84
5) A|Aelztz 210-07 |300,00091 x 14 x 23] = 600
6) = 210-07 |700,000€1 x 1t x 23] = 1,400
7) 8ol 3 230-02 |15,00091 %307 x 23] = 900
ALAFT A A% 3,854 3,854 0
7h AT A Az 3,054
1) ¢3¢ 210-01 |50,0009 x 14F= 700
2) AT (LA 200
7h 7 E 210-06 |100,000€ X 27 x 147k x 18] = 200
3) g 210—06 |14,0009 X 3ul] x 29 X 1A]7Fx 13] = 84
PG - frotd 2T - QAL E - A AgFE - wdAdFY




7137 ¢ AR RO A 214 (24 - 4 8)
(e} =]
gopzg 22| B3| 2% Aol %A% e N 202411 () | 20239(B) | F7HA-B)
4) AAdelxtE 210-07 |300,000¢ x 14 x 28] = 600
5) zFeFelxta 210-07 |795,0009 x 1th= 795
6) o3 230-02 |15,00091 %97 x 53] = 675
LR A ] 800
1) ¥S7H| 210-01 |100,000¢ x 878 = 800
AT FLdAFEY 11,262 11,334 AT2
L ARFFATNLEED 11,262 11,334 AT2
7h A A TAS 6,800
1) 98 210-01 |50,0009 % 3% x 28] = 300
2) A (5E) 400
7h) 718 210-06 |200,0004€1 X 17 X 22|13k x 18] = 400
3) AFEFI A= 210—07 700,000 x 2tf x 28] = 2,800
4) A& 210-15 |20,0009 x 1507 = 3,000
5) 393 230-02 |15,0009 X109 x 23] = 300
U, A3 w8 ) 210-01 |230,0009x10%= 2,300
EREEREE 1,108
1) £98F 210-01 |50,0009 x 3% x 28] = 300
2) A (L) 640
7H 71 & 210-06 |160,000¢9 X 178 X 2A| 7k x 23] = 640
3) Y18 210-06 |14,00091 x 3v x 17 x 247k x 23] = 168
2 AR TR AATAS 1,054
1) &98% 210-01 |50,0009 X 2% x 23] = 200
2) ZAFF R () 320
7h) 7)1 210-06 |160,0009 x 178 x 24|13k x 18] = 320
3) 98 210-06 |14,0009 x 3u§ x 17 X 2A] 7k x 18] = 84
4) 393 230-02 |15,0009 x 159 x 28] = 450
22Ad5eY 2,470 1,216 1,254
1. &3 FA A5 7T 2,470 1,216 1,254
7h WA S 2470
) $o9eFE 210-01 |50,0009 % 6%= 300
2) ZHE A = 210-01 |56,3009 x 10 x 18] = 563
3) At (LR 320
A - Fold 2T uS - AL - A A FEE} - TEAAFD




7184 AEFEWSA
718 - A ok ] 9 (&9l - 2D
2 o 1=]
Fof i Z‘jé ?};3 fg AFAH S S-A5 AEeg 20249 (A) | 20239 (B) | TH(A-B)
71 7] 210-06 160,000 x 1 x 243k x 18] = 320
4) A &n] 210-15 30,0009 X397 x 13]= 1,170
5) 7F218) 230-02 |3,0009 X397 x 18] = 117
TR LA 14,215 14,215 0
Y AAIA T 12,590 12,590 0
1. FFE2A 1,340 1,340 0
7h. 17 BA 1,340
D Sojgx 210-01 |50,0009 % 3%= 150
2) 2p A2 210-01 |15,00091 % 3% x 23] = 90
3) FAFg 210-06 100,000 x 47 x 23] = 800
4) & 9] 3 230-02 |15,0009 x 107 x 23] = 300
2. AAHAD) A A3+ 2,050 2,050 0
7F WARIALS] ¢ 8] 2,050
1) ZA 2= 210-06 |100,0009 x 47 x 43]= 1,600
2) d23 230-02 |15,0009 X107 x 33] = 450
3. s EE 7}t 1,420 1.420 0
7w s H N 7k 1,420
N EE 210-01 (50,0009 x 2%= 100
2) A=A 2 210-01 |10,0009 x 2%-= 20
3) FAr 21006 |100,0009 x 5% x 23] = 1,000
4) 893 230-02 |15,0009 X107 x 23] = 300
4. LAJNAHFF2 7,780 7,780 0
7F WA 5% 7,780
D =98 210-01 50,0009 X 7% x 28] = 700
2) A2 A = 210-01 |10,000¢ x 87 %= 870
3) AR 210-06 |40,0009 x 9% x 163]= 5,760
4) 893 230-02 |15,0009 %107 x 33]= 450
AT QA 615 615 0
1. A FAAALE A A 615 615 0
7h. AR A 3] 615
1) ZA 2= 210-06 |100,0009 x 17 x 33]= 300
2) d23 230-02 |15,0009 X7 x 33]= 315
WE = FolHEF TS - AAALLE — BHAAA} — ALFFAAA




2l
e
£
12

20241 (A)

20234 (B)

1,010

1,010

210-06
230-02

100,000 x 27 X 4 3] =
15,0009 x 774 X 23] =

1,010
1,010
800
210
18,750

1,010

3,000

15,750

240-01

210-01
210-01

210-06
210-06
230-02

1,000,0009 x 3/ &=

50,0009 X 2F X 33] =
150,00091 X 178 X 3A| 3k X 103] =

100,0009 X794 X 103] =
50,0009 X 79 X 103] =
15,0009 X 10 x 33| =

18,750
3,000
3,000

15,750

15,750

300
4,500

10,500
7,000
3,500

450

3,000
3,000

15,750

15,750

1,857,746

2,222,038

A 364,292

1,228,655

1,777,918

Ab549,263

708,065

629,958

78,107

oft P4 o

e
(i

-

Al

210-01
210-01

210-06
210-06
210-07
210-15
230-02

50,000¢ X 40F=
8,000 X50+-=

100,00090 X5 X 1 A|7Fx 53] =
14,0009 X 3vl} X 29 X 1 A| 7k X 53] =
700,000 x 1t =

25,0009 X304 =

15,0009 x40 x 23] =

28,970
7,970
2,000

400
2,500
2,500

420

700

750
1,200

21,000

12,000

32,970

A 4,000




7188 AlE4E5WAA
B AR S R (5] - <)
gopzg 22| B3| 2% Aol %A% e N 202411 () | 20239(B) | F7HA-B)
7hH L ex 210-01 |50,0009 X 6% x93]= 2,700
oh) A (D) 1,000
(1) 7]3¥ 210-06 |100,0009 x5 x 241k x 18] = 1,000
th 2t s 210-07 |700,0009 x 1t x 28] = 1,400
2}) 3hAg2lH) 210-12 11,0009 x 357 x 6] = 2,310
o) 7FAn) 210-12 |3,0009 x 357 x 88| = 840
vh) A &) 210-15 |30,0009 x 257 x 53] = 3,750
2) o] & wAE ool 240-01 |500,0009 x 6718 = 3,000
3) 258w 620-03 |1,000,000¢ x 67} w A= 6,000
2. 5 REARLIAF 7,000 7,000 0
R 7,000
1) &o99= 210-01 |50,0009 X 8% x 23]= 800
2) A=A 2 210-01 |5,0009 x1004-= 500
3) =AF9] 210-01 14,7009 <409 = 588
4) 73 (L) 2,400
7h 7)1 21006 |100,0009 x 47 X 247+ x 38| = 2,400
5) ZFARAH] 1] 210-06 50,0009 x4 x 33]= 600
6) A= 210—06 [14,0009¢ x 37 x 474 X 3A|ZFX 33| = 1,512
7) ¥2l3) 230-02 |15,0009 x 20 x 23] = 600
3. 2SR A} Y 80,000 84,300 24,300
7}, g ot & 80,000
1) £98= 210-01 |50,0009 X115 x 103]= 5,500
2) AR (LD 1,800
7H 71 21006 |100,0009¢ x 29 x 1A+ x 93] = 1,800
3) A=A T 210-07 690,000 x 23] = 1,380
4) A 210-13 |50,00049 X 40073 = 20,000
5) &A1) 210-12 11,0009 x40 x 33]= 1,320
6) 58 620-03 |1,600,0009 x 20718 = 32,000
7) 8w 18,000
7H 9 620—-03 |1,500,000¢1 x 875 = 12,000
) A 62010 |1,500,0009 x 47 &= 6,000
4, Yo B Z ALY 50,000 50,000 0
L - Foll2Ten g - LFAFREAY - BH5AHLI - 2 EHPYA




At S S-A5 AEeg 20249 (A) | 20239 (B) | TH(A-B)
7h Ao Wl Z= WAFRI 11 6] 50,000
1) B 33,400
7H 155 110-03 |2,400,0009¢) x 17 x8¥= 19,200
W 1+55 110-03 |2,800,0009¢1 x 17 x 49 = 11,200
h Ao 23Sy 110-03 100,000 x 17 x 12¢= 1,200
2} ¢3RSy 110-03 |150,0009 X194 x12¥= 1,800
2) FEUAE 6.000
7hH Fedxts 110-03 |500,0009 x 17 x 129= 6,000
3 TR 4,100
7H) Ak m % dH) 210-15 2,000,000¢ x 1% = 2,000
) Al A ok ) 210-15 |2,100,00091 x 1% = 2,100
4) B A F 320-05 3,112,000 %1% = 3,112
5) At R 7| AR I+ 320-05 |30,800,0009 % 11%= 3,388
5. dolx Pz A 36,075 54,500 218,425

7k iRz 11,575
1) $dgx 210-01 |50,00091 X 19% x 13]= 950
2) T AT 210-01 |17,1009 X507 X 18] = 855
3) 7R (L) 2,400
7hH 7)1 & 210-06 |100,0009 x 67 x 24|17} x 23] = 2,400
4) A () 720
7h 718 210-06 |50,000€ X 69 x 2417k x 18] = 600
) =3 210—06 10,0009 X 6% X 2413k x 18] = 120
5) Al xE 210-07 400,000 x 141= 400
6) AT 210-07 |600,0009 x 2t = 1,200
7) g A 210-12 |11,000€ x50% x 3] = 1,650
8) 7+41H] 210-12 13,0009 x50 X 33| = 450
9) Agn] 210-15 |50,0009 x50 x 18] = 2,500
10) &9 3 230—02 15,0009 % 15% x 28] = 450
U FolAd z2 0 4,500
1) 998> 210-01 |50,0009 x 16% = 800
2) A xtw 210—07 400,000 %24 x 28] = 1,600
3) A a 210-07 |500,0009) x 1= 500




A S E=A= 2= < 20243 (A) | 20239 (®B) | H(A-B)

4) AN 210—-12 |32,0009 X507 = 1,600
oh Holnls g ol w S 20,000
1) X273 20,000
7h) 258w 620—-03 |5,000,000¢ x 27} = 10,000
L) Fskw 10,000
(1) 39 620—-03 |5,000,000¢ x 17} = 5,000
(2) A 620—10 |5,000,000¢ x 174= 5,000

6. ZoAA ST EXY 21,000 17,000 4,000
7h. 21 A -3 A 21,000
1) 253w 240-01 |1,000,000¢9 x1274€ = 12,000
2) T 240-01 |1,000,0009 x 6715 = 6,000
3) 15w 240-01 [1,000,0009 x 371" = 3,000

7. FEETLALY 3 4,760 4,260 500
7h. 3 X v 3 2,760
1) S98= 210-01 |50,000€9 X 15F %X 23] = 1,500
2) AAEE 210-06 |40,00091 127 x 23] = 960
3) 7F2H) 210-12 |3,0009 X 100™ = 300
U}, 3heha abolb) 2.000
1) I 220-01 |20,000¢9 X 17 X 603] = 1,200
2) T 220-01 |50,0009x 1% x163]= 800

8. AATSEA 48,460 48,460 0
7h FRPEH A S S S 25,000
D S8 nSg-sAd 25,000
7h =5stw 620-03 |1,000,0009 x 1574 &= 15,000
) Z8kw 620-03 | 1,250,0009 x 87 i1.= 10,000
v S HAAR A S S 23,460
1) $98x 210-01 |27,00091 X 10%Fx103] = 2,700
2) A5A 2 210—01 |20,000¢ X 90 x 23] = 3,600
3) Ak (dah) 5,300
7hH & 210-06 | 100,0009 X 147t x 53853 = 5,300
4) AFA A8 210—-07 |500,0009 X 1t x 153] = 7,500
5) BFAJ AN 210—-12 11,0009 X407 X 43]= 1,760

T - wF - &AF Y - nSHGEGA A




At & LA & A= 2024 (A) | 202349 (B) (A-B)

6) 7+21n) 210—12 |3,0009 x40 x 78] = 840
7) R A 310-06 |11,0009 %407 x43]= 1,760

9. AL SH AL 31,800 31,468 332
4 R A - ST PR 31,800
1) 982 210-01 |48,0009 x 45%= 2,160
2) A 210-06 |40,0009) x 2% x 3204 gk= 25,600
3) A= 210—15 |1,20090 X 20 X 1603] = 3,840
4) & 2] 3 230-02 10,0009 x5 X 43]= 200

10. S2HAAFIAA 400,000 300,000 100,000
7h A Aad S A A A 7R AL A A 3,200
1) S98=% 210-01 |50,0009 x10%= 500
2) AArE 1,800
7H 71E 210-06 40,0009 X 107 X 38]= 1,200
W} 23 210-06 20,0009 x 10 x 3] = 600
3) 393 230-02 15,0009 X 157 X 43]= 900
. A F e A A AARE - AR 19,916
1) *948= 210-01 |50,000€¥ X 10F %X 23] = 1,000
2) A& A 2 210-01 |19,12091 X 100%-= 1,912
3) A 4] 210-01 20,0009 x74¢@= 1,480
4) ZFAr (YR 3,840
7H 7)E 210-06 | 160,000¢ X 2% X 2413} X 63] = 3,840
5 Y38 210—06 |14,0009 X 3v x 21 X 2A] 7k X 6.3] = 1,008
6) AAAYAA=R 210—-07 |400,000¢ x 24 x 23] = 1,600
7) A 2= 210-07 700,0009 X 2t) X 23] = 2,800
8) Al AN 210-12 11,0009 X644 X 63] = 4,224
9) 7+21H] 210-12 13,0009 X 64 X 63| = 1,152
10) 393 230-02 15,0009 %15 x 43| = 900
oh AT 2 A E A A 376,884
) SoeE 210-01 |50,0009 X 10% X 28] = 1,000
2) A2 A 2+ 210-01 |18,760¢ X 100%= 1,876
3) A (YR 3,000
7H 71& 210-06 [160,0009) x 27 X 2217k x 33] = 1,920

TIE - @F - 25HE LY - 15HI LA D




At & LA & AEUY 2024 (A) | 202349 (B)

) =3} 210—06 [90,000¢ X 2™ X 2A]7F % 33] = 1,080

4) 4w 210—-06 14,0009 X 30l X 27 X 4A] 3} X 33| = 1,008

5) A@n] 210—-13 |5,000,0009 x 749 = 370,000
IESAENERF 13,588 13,588
1. A3 A G w A LR F 13,588 13,588

7} AFE] A o g w A R 12,320

1) &9&% 210-01 |50,0009 x 8% = 400

2) A8A 2 210-01 |26,0009 x 370%-= 9,620

3) AESTG 210—06 [40,0009 X107 xX53]= 2,000

4) g2l 3 230-02 |15,0009 x 109 x 23] = 300

L AFS] A o st A 8- 1,268

1) $ojg= 210-01 50,0009 x 10%= 500

2) 7 (Y 600

b 7 E 210-06 |100,000€ X 27 x 147k x 33] = 600

3) 98 210-06 |14,0009 X 3vll x 27 X 1A 7k x 28] = 168
SHF A AMNA 507,002 1,132,372
1. S axSA A B 507,002 1,132,372

7}, ot AT =3 A 507,002

1) A AN 420-02 |470,318,0009 X 6.3999%= 30,100

2) Al/dn] 470,318

7h QA Z=ZT A A 420-03 65,0009 X 4,838m'= 314,470

W} A xEZAES 420-03 |132,0009 X530m'= 69,960

th) AWk ZAF 420-03 16,0009 X 5,368m'= 85,888

3) Al H-tfv] 420-05 |470,318,0009 X 1.3999%= 6,584
86,882 87,792
A4 86,882 87,792
1. 718 FAA Y 55,000 55,000

7}, ez A E 55,000

1) () 71288304 26,600

7h 71z 3 - 3,750

(1) *998= 210-01 |50,0009 X 20%= 1,000

(2) A3 (58) 800

T - IF — AL G} - LA




18 AEZHEY A
719 AR et S A A% (el - A )
Z] 20 o H
gopzg 22| B3| 2% NESIE == RENE 2024d(A) | 20239 (B) | Z7(A-B)
h 71% 210-06 |200,0009 x 27 X 24| 7k x 1 3] = 800
(3) du= 210-06 10,0009 x 3vll X 11 X 24|13k x 18] = 60
(4) -2 210-12 |11,00091 %307 x 23] = 660
(5) 7FAn) 210-12 |3,0009 x 307 x 28] = 180
(6) A& 210-15 |35,0009 %30 = 1,050
W) S AA A S A 22,850
(1) A 210-01 |250,00091 x5 = 1,250
(2) e 210-01 |65,0009 %119 x303]= 21,450
(3) ¥4 3 230-02 |15,00091 x5 x 23] = 150
2) (T) 71zt FEA 22,700
7h 712 AT 3,750
(1) ¢4 8= 210-01 (50,0009 X 20%= 1,000
2) e (EH) 800
h 71% 210-06 |200,0009 x 29 x 24| 7k x 1 3] = 800
(3) 9% 210-06 |10,00041 X 31} X 17 X 24| 3k x 1 3] = 60
(4) BHA A1) 210-12 11,0009 x 3074 x 28] = 660
(5) 7H2H] 210-12 |3,0009 %309 x 23] = 180
(6) A& 210-15 |35,0009 %30 = 1,050
W) G52 G A A A s e A 18,950
(1) Ak 210-01 |250,00091 x5 = 1,250
(2) w51 210-01 |65,0009 X107 x 273]= 17,550
(3) 93 230-02 |15,0009) x5 x 28] = 150
3) *gH 1,700
7hH A9 EF 210-01 |50,00049 X 20%= 1,000
) Al AH] 6] 1) 210-09 |70,0009 x 107} 4= 700
4) 7)Z3ve] A g a Ak ) 4,000
7h 220-01 |20,0009 x 21 X 1003] = 4,000
2. SFH AR Y 31,882 32,792 2910
7} AN FEA G 1,882
1) 98 210-01 50,0009 X 6= 300
2) =AT¢] 210-01 |15,0009 X209 = 300
3) AR (L) 600

10




7|88 AlE4E WA
719 - AE S ek %A 9% (&9l - 2D
o) 1=
Bo} Fi ?’}z ?};3 fg AR < -5 e 20249 (A) | 202349 (B) | TH(A-B)
7H 7)1& 210-06 | 100,000 X 3% X 2413k x 18] = 600
4) 4u= 210—-06 | 14,0009 X 30} x 37 X 2 7k X 1 8] = 959
5) SFAI A1 210-12 11,0009 x 20 = 220
6) 7-211) 210-12 |3,0009 % 20 = 60
7) &) 3 230-02 |15,0009 X109 = 150
ERESTR AR AR 30,000
1) =8t 14,000
7hH =8k 620-03 | 14,000,00091= 14,000
2) FEuNFHA 3,500
7H L9 8= 210-01 50,0009 x 30%= 1,500
W) 2zt s 210-07 |500,000¢ x4t= 2,000
3) AFYz=aH 12,500
7 o 8= 210-01 [50,0009 X 29% x 23] = 2,900
W) A (5E) 800
(1) 7= 210-06 | 200,000¢] X 2% X 2417}k x 1 8] = 800
o e 210-07 |500,0009 x 12t]= 6,000
2}) A Al n 210-12 11,0009 x100% x 28] = 2,200
v}y 7F2lH) 210—12 |3,000€ X 1007 x 23] = 600
Zstl o] 2,700 2,700 0
A= A3819 2,700 2,700 0
1. A8 g R st 2,700 2,700 0
7h. A T A e 2,700
1) A=A =k 210-01 |10,000€ X 30%= 300
2) A" TS 2,100
7 7)1 & 210-06 40,0009 x 357 X 18] = 1,400
W) =3 210-06 20,0009 x 35 X 13]= 700
3) 93 230-02 15,0009 %10 X 23] = 300
Solas 7,590 7,489 101
SOl 289 7,590 7,489 101
1. X Y9S- 3,000 2,764 236
7 A A AL 1,000
1) 992 210-01 36,0009 x10%= 360
W& - FolH2FFTNE - AFEHFETAY - FotuF — Fotw 9

11




71838 A4S SIA
71389 Ae R ERtnSA 9 (& - "4
7)) [e) =]
Hopru 3 Z—j ?}g jg JARSIE TS E_jE NEWE 2024d(A) | 20234(B) | =7 (A-B)
2) A (U 640
7h 7= 210-06 |160,000€ x 27 X 22|13k x 18] = 640
o e g A AR ) 1,000
1) 269 240—-01 |1,000,000¢ x 17§18l = 1,000
U FA LY A AR A 1,000
1) $9E= 210-01 |50,0009 X 7%= 350
2) A2 A2 210-01 |3,000€ X 130% = 390
3) A (LHh) 200
7hH 71 210—-06 |100,0004¢1 X 17 X 2417k x 18] = 200
4) 3% 210-06 |10,00091 X 3 x 1% X 2A] 7k x 18] = 60
2. SXY=AAL 4,590 4,725 A135
7} A Yetentg-ed 1Y 210-01 [270,0009 X177/} = 4,590
ELgS 101,350 106,471 A5,121
ErnSe9 101,350 106,471 25,121
1. E5nS8999389 1,560 1,260 300
7} S gE 210-01 [30,0009 x4%= 120
U, ZA g 210-06 100,000%x3ﬂé X 43]= 1,200
t}. o3 230—-02 |15,0009 x 8™ x 28] = 240
2. EFnSAYAE LY 99,790 105,211 25,421
7} TR e 75,720
1) +3luses 210—-01 |50,0004 X 40%F= 2,000
2) BAE (Y 7,200
7hH 71 210-06 |100,0009 X 41 X 24| 7k x 93] = 7,200
3) i 21006 |10,000¢l X 37 X 19 x 247k x 53] = 300
4) el zp 210-07 |650,00091 X 63] = 3,900
5 SHANSEIZE 1Y 210—15 |45,5509 %1007 x 123]= 54,660
6) AT AL 210—15 |18,600€ x50 x 53] = 4,650
7) SFAI AN 210-12 |11,0009 x 287 x 53] = 1,540
8) 7FAIH] 210-12 |3,0009 X497 X 103] = 1,470
U A 719 98 £ 9 2,000
1) HAARA 2] 210—15 |100,0009 X 10%= 1,000
2) A kAL FH] 210-15 |200,0009 X 53] = 1,000

12




7@d AEDEYIA
R R B R R (5] 2l
] A [e) H
gopzg 22| B3| 2% Aol %A% Az 202411 () | 20239(B) | F7HA-B)
o EFLEEEA A (FHR) 1,350
1) &35 An 310-06 |11,000€ X307 x 33]= 990
2) 7F211) 310-06 [3,0009 <127 x103]= 360
2 55 A E &G 20.720
1) $98=% 210-01 |50,0009 X 90%= 4,500
2) odek7kaled 5] 210-01 |130,0009 x5%= 650
3) &3] 220-01 |20,0009 x5 x 120U = 12,000
4) AF1 9l 5 900
7 AL ¥ 2 3 230-02 |15,00091 %5 x 18] = 75
) 23 713 o) 3 230-02 |15,0009x5% x13]= 75
) E4wAE 9 3 230-02 15,0009 x 207 x 23] = 600
o) B3 u S A Ay o) 3 230-02 15,0009 %108 x 13]= 150
5) BxFs7|7+4 430-01 1,335,0009 x 2t} = 2,670
FA LS 67,078 0 67,078
FALEGLEY 67,078 0 67,078
1. GRS/ |84 67,078 0 67,078
7h G ALY 67,078
D) AurshFed 37,004
7H 8= 210-01 |50,0009 X 6F x 4 7] 853 x 23] = 2,400
W 53 = 210-01 |100,0009 X 14 x 47 8}53 x 23] = 11,200
th) =g A2 210-01 |15,0009 x 125 x 47853 x 13] = 720
2h) A (LR 22,000
(1) 7= 210-06 100,000€1 x 3047 x 471853 12,000
(2) =3 210-06 |50,000¢ x 5041t x 47] & 3= 10,000
u}) sHA Al 210-12 11,0009 x 127 x 47 8}h5F x 33| = 1,584
2) APAVE 29 4,040
7 g 210-01 50,0009 X 6F x 1 7] 8k x 18] = 300
) sh&n)E 210-01 |100,0009 X 5% x 17853 x 28] = 1,000
th) A5 A = 210-01 |15,000€ x 5% x 178 x 18] = 75
2h) A (LR 2,500
(1) 7] 210-06 |100,000¢ x 107 x 22|17k x 17} 8k 2,000
(2) %3 210-06 |50,0009¢1 x 109 x 1Ak x 17] 853 = 500

13




PSR E_A= AE 20249 (A) | 20239 (B)
m}) A Al n) 210-12 11,0009 x 57 x 1 /]85 x 38| = 165
3) FASHFAALAE 2,768
7H 93 8= 210-01 |50,0009 % 3% x23]= 300
wh Al e 1,100
(1) NB7= 210-06 |50,0009 %119 = 550
(2) HH =) A n) 210-06 50,0009 x11%= 550
o} sl 210-12 11,0009 %71 x 18] = 781
2h) A 7FA ) 210—12 |3,0009 %71 x18]= 213
b)) WA Y An]| 230—02 18,0009 x 17 x 28] = 272
Hh) w A 72 230—02 |3,0009 %174 x28]= 102
4) YA F A AR 2 8] 900
7h sl 600
(1) 71 210-06 | 100,00091 x 2 x 23] = 400
(2) 23} 210-06 |50,00091 x 27 x 23] = 200
) 393 230-02 10,0009 % 10% x 38| = 300
5) o] ] 220—01 20,0009 X184 x58]= 1,800
6) 712 A Y w25 1,400
H EE 430-01 [1,400,0009 x 1= 1,400
7) AN G A LG EZ R TR 4,976
7h 8= 210-01 |50,000€ X 5% x 47)3-0}= 1,000
W) srEErE 210—01 |100,00091 X 5F X 47} 3E0k= 2,000
oh Ak (AR 800
(1) 718 210—-06 |100,0009 x 4% X 2417k x 18] = 800
2} &g Al 210-12 |11,0009 X 2178 X 47} k= 924
u}) A 7EA H] 210—12 |3,00091 X 21%g X 47)3E0k= 252
8) AEWAAEAS 1,290
b gl 210-01 |50,0008 x 2= 100
W) A 210-06 | 100,0009 X 17 X 2A13F x 18] = 200
th o3 230-02 |11,0009 X189 x53]= 990
9) FAAAtEd 12,000
7H Lg% 210-01 |5,00090 x55™ x 28] = 550
W) A s 210-07 800,000 x 2t} x 291 = 3,200
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B RE I PR
718 Qe E kw4 X 9 (k1 = 22l
2 [e) 1=}
gopzg 22| B3| 2% Aol %A% e N 202411 () | 20239(B) | F7HA-B)
o) A& 8| 210—15 |75,0009 X557 x 29 = 8,250
=TS 20,654 29,344 A8,690
ENELTSLG 18,650 27,640 28,990
1. E=sa7849 18,650 27,640 28,990
7h ARG AAFA L FA A 14,222
1) $98= 210-01 |50,0009 x9F x 43]= 1,800
2) TAT9] 210-01 |18,70091 x 209 x 107 .= 3,740
3) A (LHh) 2,560
7h 718 210-06 |160,00091 x4 X 24| 7k x 23] = 2,560
4) e 21006 | 14,0009 X 37 X 47 x 2] 7k x 28] = 672
5) A AolxtE 210-07 |500,00091 x 14 x 23] = 1,000
6) Aol m 210-07 |800,0009 x 1t}= 800
7) A2 210-12 11,0009 x50 x53]= 2.750
8) 7F2lH] 210—12 |3,00091x50% x 28] = 300
9) o3 230-02 |15,0009) x 207 x 23] = 600
L AR S EEE Y 4,428
1) $98= 210-01 |50,0009 X 7&x 43]= 1,400
2) T AT 210—01 |20,000€ X 30¢ x 23] = 1,200
3) AR (EE) 1,200
7h 7)1 210-06 |300,000491 X 17 X 24| 7k x 23] = 1,200
4) 7ZFA}FAn8] 7 ) 210-06 |80,0009¢1x 17 x 28] = 160
5 v 210-06 |14,000€1 x 31 x 19 X 247k x 23] = 168
6) o3 230-02 |15,00091 x 20 = 300
BB 2,004 1,704 300
1. 3 aEABRLIXY 2,004 1,704 300
7}, SolgE 210-01 |50,0009 x4 x 33| = 600
L A (AR 1,200
1) 71 210-06 | 100,000¢ x 27 X 2A13F x 38] = 1,200
= = 210-06 |14,00094 X 3u] X 1 X 2A| 7k X 18] = 84
al. & o] 3] 230-02 |15,0009 x84 = 120
SHETA 4 181,145 73,815 107,330
B u g8 116,730 16,640 100,090
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PSR E_A= AE 20249 (A) | 20239 (B)

1. 5385 ZT2 089 100,000 0
7t SR ANETEY 100,000
D =99 100,000
7H L9 e= 210-01 |50,000€9 x5F x 48] = 1,000
W) 2= A4z 210-01 |3,0009 x 350%-= 1,050
th o754 H] 210-01 |200,000€ x53]= 1,000
ep) Ak 83,750
(1) A=A ASZF (N3 AP 210-06 |55,00091 X 17 X547k X 503] = 13,750
(2) A SR AT (FFEZFAD 210-06 |40,00091 % 778 X 517k X 503] = 70,000
uh) 2 (A A) AR 210-07 |400,0009 x 53] = 2,000
up) &g A ) 210-12 |11,0009 x50 x 163]= 8,800
AP ZEAH] 210—12 13,0009 x50 X 1638]= 2,400

2. 58%x ¢ 10,730 10,640
7} Al A 57 A g 2,290
1) £98= 210-01 |50,000€ x10F x 28] = 1,000
2) Ax G 210—06 40,0009 < 3% x 28] = 240
3) Aol 210-07 |600,0009) x 1= 600
4) 393 230-02 |15,0009 x 159 x 28] = 450
a2 ojRlol B 8 A 8,440
1) e98= 210-01 |100,0009 X 60% = 6,000
2) AN 240
7hH 7)1 210-06 |40,0009 x4 x 18] = 160
W) %3 210-06 |20,0009 x4 x 18]= 80
3) A= 210-07 |1,000,0009 x 1= 1,000
4) 7+211) 210-12 13,0009 x 1507 x 23] = 900
5) 393 230-02 |15,0009 X204 = 300

3. o]~ I A PALFR 6,000 6,000
7}, o -lelaa} 3500
1) ¢3¢ 210-01 |100,0009 x 35% = 3,500
ERER RS 2,500
1) £98% 210-01 50,0009 x10%= 500
2) 73R (L) 500

- 588574 - E3en sy
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719 AR R4 9% () : )
N o H
Bopnm ?’} Z—j ?};3 jg Ape el == Az 20249 (A) | 20234 (B) | =7(A-B)
71 7] 210-06 100,000 X 59 x 147k x 18] = 500
3) A= 210-07 |498,0009 x 2th= 996
4) A AH] 210-12 |11,0009 X364 = 396
5) 721 210-12 3,0009 % 367 = 108
ESSEE R 64,415 57,175 7,240
1. AZ2d A5 3 3,600 3,600 0
7h AsadAS o 3 3,600
1) EANELG 4T 210-01 |50,0009 x39%= 1,950
2) ZH X452 210-12 |11,000€ X159 x 103]= 1,650
2. 7164415 0 3 23,315 18,075 5,240
7k & o) o 3] 5,130
D) A&7 A 5,130
7hH L9 8= 210-01 |50,00049 X 40%= 2,000
) Awsd 1,500
(1) 71% 210—06 40,0009 X 25 X 13]= 1,000
(2) 23 210-06 |20,00091 x 25 x 18] = 500
o}) s 2aln) 210-12 |11,0009 X407 x 23] = 880
) o o] 5] 230-02 |15,0009 x50 = 750
uh, &7 o) 3 6,200
D A5 A3l 6,200
7h 9 8F 210-01 50,0009 X 20&= 1,000
W) ol A s 210-07 |600,000¢] x5t} = 3,000
th) kA3 AlH] 210-12 11,0009 x 1007 x 23] = 2,200
o}, Wb Supg 1,955
1) $98= 210-01 |50,0009 X 40% = 2,000
2) A5 600
71 782 210-06 |40,0009 %10 = 400
W)z 210-06 20,0009 X107 = 200
3) AlAddxE 210-07 1,155,0009 x 14 = 1,155
4) A1) 230-02 [8,0009 x 1504 = 1,200
e AL T4 A3 3,310
1) 98 210-01 |50,0009 X 20%= 1,000

4E A5 EE 17
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EEelw 5293 K|
& A S E=A= ArEU o 2024 (A) | 202349 (B) (A-B)
A1 ) T o 4 d

2) 9193 %45 2,100
7hH 71& 210—06 [100,0009 X 74 X 23] = 1,400
W) =3 210-06 50,0009 X7 X 23] = 700
3) 93 230-02 15,0009 x 7% x 23] = 210
vk, ghohg Al %o 3 3,720
I 210-01 50,0009 x 48%F= 2,400
2) AH] 230-02 18,0009 %120 = 960
3) 7H21H] 230-02 [3,0009 %1204 = 360
FRAEELY 37,500 2,000
7h S5 37,500
1) 2538w 620—03 500,000 x 607 = 30,000
2) 3w 7,500
7hH 29 620—03 |500,0009 x15% = 7,500
R PV ES B 119,882 25,183
Sy Zeodty g 23,088 21,557 1,531
1. R ZH o Aukx = 23,088 21,557 1,531
7h. St e o 1,652
D eoax 210-01 |48,0009 x 8%= 384
2) A (4Rh 800
7h 71 210-06 | 100,0009) X 278 X 2413k x 23] = 800
3) Y8 210-06 14,0009 x 3ull X 17 X 2A] 3k x 23] = 168
1) &3 230-02 |15,0009 x 207 = 300
1}, tﬂ-Eﬂfﬂ }\g%x] 1,920
1) $94x 210-01 | 100,0009 X 6& X 23] = 1,200
2) dwEHAN T AZQ 210-02 25,0009 x12¢= 300
3) 393 230-02 15,0009 X7 X 43]= 420
ERE R R RO 19516
1) $94x 210-01 |100,0009 x10%= 1,000
2) &7 8 210-01 | 150,000€ x 17 X 3A1ZEx 103]= 4,500
3) ZFAr (YR 1,280
7H 71 & 210-06 | 160,0009¢ X 21 X 2413} x 23] = 1,280
4) 918 210—-06 |14,000¢ X 31 x 27 X 24| 7} x 23] = 336
- folR2FERS - AFTFTEAY - HPABAE - Fu Yoy




18 AEZEY A
)
A S E=A= 2= < 2024 (A) | 202349 (B) (A-B)

5 ¥A+ 10,500
7hH 71& 210—06 |100,0009 x 7% x103]= 7,000
) z3 210-06 50,0009 X 7% X103 = 3,500
6) AU = 210-07 |500,000¢ x 23] = 1,000
7) &3 230-02 15,0009 X 15 X 43]= 900

AYEEds 95,794 68,760 27,034

1. §(WEE)Z2HAELY9X 4 95,794 68,760 27,034
7} AEAGlE 43 o 220-01 [20,0009 x 3% x1503]= 9,000
U, 92-99n) 63,994
1) $98% 210-01 |100,000¢ X 18%= 1,800
2) =2 A4 &) 210—-15 |10,0009 % 100%= 1,000
3) sFAJ AN 210-12 11,0009 %20 X 53] = 1,100
4) 7r214) 210-12 13,0009 x 207 x 83| = 480
5) X3 7A: ) 210-15 3,000,000 x 103] = 30,000
6) A2 AAFR] 2] 1] 210-15 500,000 x 13 = 500
7) A8 2 8 Amn] 210-15 100,0009 x 25 X 103]= 25,000
8) Z=¥u| A 210-15 |300,0009 x 63 = 1,800
9) HMFolg] o s=n] 210-15 | 150,0009 X 3% X 23] = 900
10) 7N elAtekAl ek} 430-01 |332,0009 % 174= 332
11) AE A 54 FolgEx} 430-01 |232,0009 x17= 232
12) A8 x| 5452 o=} 430—01 [60,000¢ x 27]= 120
13) AZH 27 430-01 |730,0009 x 17§= 730
th A de s wAbr 22,800
1) 3 &= 210-01 100,0009 X 4& X 23] = 800
2) 423 WAFAS=n] 210-15 |100,0009 x 4= 400
3) 43| odn] 220-01 20,0009 X 47 X 24038] = 19,200
4) £33 240-01 50,0009 x4 x129= 2,400

EuRe 1,000 2,232 21,232

1. gAgeA B 1,000 2,232 21,232
7h St E bR TG A 1,000
1) 25w 620—03 |1,000,0009 X 13= 1,000

40,000 40,000 0

19




718 L A Ak A 91 (9] - 212
X [e) =]
Hof R 3:3 ?};3 fg A S-AE AbE U< 2024 (A) | 20239(B) | TH(A-B)
AZAST TS 40,000 40,000 0
1L AZAEZZ ALY 40,000 40,000 0
7L ARAYZ2 IR 40,000
1) =sw 40,000
7h &9 620-03 |27,702,0009= 27,702
) A 620—10 |12,298,000¢= 12,298
LA dhel] A 1,810 1,810 0
AgAEL YA # 2 1,810 1,810 0
1. F}aRTAEASeId= 1,810 1,810 0
7h F S Al g Rl e ke 1.810
D) ARALFFE 210-01 |1,400,0009 % 13]= 1,400
2) AXF 210-06 |100,0004 x 19 x 23] = 200
3) 93 230-02 |15,0009 x 77 x 23] = 210
AEEZ 2,251,578 2,244,920 6,658
WSS g NEE g 1,459,688 1,094,850 364,838
w9} 58k w $- 1,263,226 1,048,440 214,786
1. 3358t 7 84 314 ¢ 1,083,056 940,140 142,916
7} 53 3 AA A 832,836
1) A (9ED 210-13 35,0004 x 210 X 3417t X 37.74315 = 832,236
2) A 600
7h 718 210-06 40,0009 %108 x 18] = 400
W x5 210-06 20,0009 %10 x 18] = 200
t S 2T 3 1,710
D) 9% 210-01 50,0009 30%= 1,500
2) 7+24] 230-02 |3,0009 % 70% x13]= 210
o WS 9 2] ) 1,510
1) £d8F 210-01 50,0009 % 20%= 1,000
2) )3 230-02 15,0009 %34 = 510
g}, W} 8t w93 u) 240,000
) 258w 620-03 | 116,500,000¢ x 27} i1 = 233,000
2) 8k 7,000
7h &9 620-03 |2,000,000€ x 17} 1= 2,000
W - FOIREFERS - WEEA - PAFFRER D - BAF e 90




71#E AEdEWSA
EERECER TP LSRR A
(e} =]
gopzg 22| B3| 2% Aol %A% e N 202411 () | 20239(B) | F7HA-B)
) AHY 620-10 5,000,000 % 17} 3= 5,000
e B E A b 7,000
1) 258w (9 210-13 |3,000,000¢ x 17} L= 3,000
9) Z&lw 4,000
7h A 620—-10 |4,000,000¢) x 17} 1= 4,000
9. Wl 3 ) 9 A E| S H] | 9 19,270 3,400 15,870
7). AE 8 oo
1) $oda=x 210-01 50,0009 X 30%= 1,500
2) ZHE A = 210-01 |10,000¢ x 250%-= 2,500
3) WZ e A=t 210-01 |10,0009 x 150%= 1,500
o AE @A 1009
1) BAREE7] 430-01 |500,0009 x 1th= 500
2) Maa 430-01 |850,00091 x 2th= 1,700
3) MY AT 430-01 |800,0004 x 3tf= 2,400
o s/ dAE A" 2,840
1) $938= 210-01 |100,0009 x 14%= 1,400
2) ARY 5 720
7h) 7] 210-06 |40,000€l x 31 x43]= 480
W} 2z 210-06 |20,0009 x 3% x 48] = 240
3) 7F21H] 310-06 |3,0009 %2007 = 600
4) ¥ 93] 230-02 10,0009 x 12 x 13] = 120
eh kg AR AR 2,230
1) $9e= 210-01 |50,0009 X 10% x 13]= 500
2) 2pE A2 210-01 |5,0009 x 42% = 210
3) ZAHER (L) 000
71 7] 210-06 |100,0009 X 17 X 24|13k x 28] = 400
W) 23 210—06 50,0009 X 1 X A3k x 28] = 100
4) 7+414) 230-02 |3,000¢1 x40 x 13]= 120
5) &9)3 230-02 |15,0009 x 307 x 28] = 900
wh, ujofu) 4100
1) ) 220-01 |20,0009 x 17 X 80%] = 1,600
2) &= 220-01 |50,0009 x 1% X 503] = 2,500
WH = fropl 2P eus - wHHA - Wy stuglEgud - a5t
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SERE

20241 (A)

20234 (B)

210-01

210-06
210-06

8,000,000¢ x 2071 7] &=

50,0009 X 3% x 23] =

40,0009 X 5™ x 23] =
20,0009 x5™ x 23] =

160,900
160,000
900
300
600
400
200
196,462

104,900

46,410

150,052

2l ok
ol Mo
> of
re

iz |
i

ofl 2

(i
=

~—

Bl & 4y 2 oo

[N
fo

210-01
210-01

210-06
210-06
210-15
230-02
230-02

210-13

620—-03

100,0009 X 2=
5,000 x40%=

100,0009 X 19 X 2A1 7k X 23] =
50,0009 X 11 X 1A| 7k x 23] =
35,0009 X309 =

8,000 X 30 x 23] =

3,000 X 307 X 23] =

35,0009 X 35T X 4 A7k X 30.582F=

2,315,780 X 19/ =

196,462
2,610
200

200

500
400

100
1,050
480

180
149,852
149,852
44,000
44,000
400,000

46,410

1,035,120

150,052

A635,120

620-03

620—-03
620—-10

700,000 X 207/ 8t+=

500,000 X 10/ &=
500,000 x 27§ 8tg =

400,000
400,000
400,000
20,000
14,000
6,000
5,000
1,000
97,200

1,035,120
1,035,120

A635,120
A635,120
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713 AR et &2 4% (9] - e
2] =0 <)

gopzg 22| B3| 2% Aol %A% e N 202411 () | 20239(B) | F7HA-B)

M S EE 210-01 |10,0009 % 230% x 253 = 57,500

W) Ak 210-06 |32,0009 x 40 x 253 = 32,000

t}) A 210-12 |11,0009 x 35 x 203 = 7,700

3) A AALS W EFH HAY 16,000

7h FRIgro st Fote] - 16,000

(1) A3 210-15 |10,0009 x 80 x 203] = 16,000

4) S A - 266,800

7h gy A d e 204,930

(1) $938¥ 210-01 |50,0009 x 40% x 53] = 10,000

(2) A& 210-01 |15,0009 x 227 x 283 x 128 = 110,880

(3) == 210-01 |3,0009 % 3,5007)= 10,500

(4) 2= A= 210-01 |1,0009 % 5,930%= 5,930

(5) Apg3E 210-01 |50,0009 x111%= 5,550

(6) At 21006 |40,0009 X 2413k x 403] x 129 = 38,400

(7) el AR 789 (o okr 210-09 |6,500,0009 x 13]= 6,500

(8) 9] 3] 230-02 |15,0009 x 257 x 28] = 750

(9) 3= 23 A1) = 430-01 |1,000,0009 x 3%= 3,000

(10) AHAbE]H) = 430-01 |1,950,0009 x 6%= 11,700

(11) TEZ =} 430-01 |320,0009 % 17]= 320

(12) 159AA 430-01 1,400,0009 x 171 = 1,400

) ek A 3 ke 61,870

(1) 295 110-03 |15,0009¢1 X 2% x 133] = 390

(2) A7+ 210-02 |1,200,0009 x 12¢ = 14,400

(3) Aetrr o 210-02 |150,00091 x 129 = 1,800

(4) Asto = 210-02 |500,0009 x 129 = 6,000

(5) 3| En| 210-03 |300,000¢] x 2% x 13| = 600

6) 371447188 210-07 |50,0009 x 12t x 129 = 7,200

(7) A7138Y 210-07 70,0009 x 2t x12¢¥= 1,680

(8) A Z== 210-09 |400,000¢ x 43 = 1,600

(9) A g Ze] AR 210-09 |50,0009 x4 3= 200

(10) 277222 210-09 |700,0009 x 129 = 8,400

(11) B ESA RS 210-09 |250,00091 x 43 = 1,000

B - FOIREFERE - LERA — Bl RRLLEANA — Fol et n S B4 3 93




18 AEZHEY A
ARty B = AR S A S R (el - A )
2 o 1=]
gopzg 22| B3| 2% Aol %A REXE 202411 (A) | 20234(B) | F7HA-B)
(12) B8 249 210-09 |500,0009 x 23] = 1,000
(13) e}z 8o 210—-11 1,200,0009 x 18] = 1,200
(14) 2vrerd sy 210-13 |170,0009 x129= 2,040
(15) A7|rx g 210-13 |120,0009 x12¢¥= 1,440
(16) Fa74n ¢4 210-13 |310,0009 x129= 3,720
(17) Hadr= 210-13 |300,0009) x124= 3,600
(18) on) 220-01 20,0009 X 774 x 403 = 5,600
ASEXR Y 391,890 114,950 276,940
ASEASHAAY 387,010 114,950 272,060
1. Z8ER LRGSR L 387,010 114,950 272,060
7y, WS EA) kAT 18,000
D 171880544 18,000
7h ¢ 7)1k A 210—15 |50,000€1 X 2603] = 13,000
W) 9718tw= 210-15 2,000,000€ x 27} .= 4,000
o)) AT Z AN 210—-15 |100,000¢ X 107} L= 1,000
L w5 E A8 A 363,010
1) Z4@sw 315,260
7hH =5 620-03 | 154,300,0009= 154,300
) =8ty 160,960
(1) &% 620-03 | 40,000,0009= 40,000
(2) A+ 620-10 120,960,000¢= 120,960
2) FolEAAT W 47,750
7} S8 620-03 30,500,000¢= 30,500
) Zshw 17,250
(1) 39 620-03 | 12,000,0009= 12,000
(2) A 620-10 |5,250,0009= 5,250
o} W& A4 A DAY 6,000
1) L&A A 993 3,050
7h £ 8= 210-01 20,0009 X 20%= 400
W) 2 A = 210-01 |15,000¢ X 40%= 600
) FHA4or 210-06 |100,000¢ x 27 = 200
2} 4=3]oin) 220-01 20,0009l X 1% X703 = 1,400
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7178 AEZHE YA
719 ;e e 57 914 (24 - d4
Z (e} =]
gopzg 22| B3| 2% Aol %A% Az 202411 () | 20239(B) | F7HA-B)
u}) fgg]ﬂ 230-02 |15,0009 X108 x 338]= 450
2) B TAARAGL 2,950
b L9 L= 210-01 (50,0009 x21%= 1,050
) A (A 1,600
(1) 7] 210-06 |160,0009 x 178 x 2217k x 58] = 1,600
) Y91 = 210-06 10,0009 x 3ull X 178 X 2A] 3k X 53] = 300
G EHo|EFUFA L SA 4,880 0 4,880
1. Z3 A TSR 9 4,880 0 4,880
]_ ‘:]"‘r“§]'7]'x_]7]'7‘7n—" 4,880
1) $ojg= 210-01 50,0009 x 10%= 500
2) 73R (L) 480
b 7 E 210-06 |160,000€ X 3% x 147k x 18] = 480
3) AEFI A= 210-07 680,000 x 1t} x 18] = 680
1) 71Erel A= 210-07 |500,0009 % 18]= 500
5) Agn] 210-15 |20,000€ x40 x 28] = 1,600
6) YA 210-12 11,0009 %407 x 23] = 880
7) 72N 210-12 |3,0009 x40 x 23] = 240
HAZA 5,734,389 4,146,062 1,588,327
w AT 6,128 6,128 0
3 H A7 868 868 0
L BADEHGY 868 868 0
7h R WAL 868
1) S98= 210-01 50,0009 x4%= 200
2) A8 A =} 210-01 |4,4009 X 60%= 264
3) ZEAFE R (L) 320
7h 72 210-06 |160,0009 x 178 x 24|13k x 18] = 320
4) Q8 210-06 |14,0009 x 3v x 17 X 24| 7k x 18] = 84
Sug3 A8 ae 5,260 5,260 0
1. $TH =T 390 390 0
7). ER A A o
1) £98% 210-01 10,0009 X 2F x 28] = 40
2) AR 210-01 |10,0009 x 35t = 350

il 25




At & E=A= A= 2024 (A) | 202349 (B) (A-B)

2. N FHNSHHES 4,870 4,870 0
7h 2537 H 5 23 4,870
1) S98x 210-01 |30,0009 X 1%= 30
2) FAFg 210-06 |100,0009 x 107 x 43]= 4,000
3) 393 230—02 15,0009 X147 x 48] = 840

5,728,261 4,139,934 1,588,327

£ 3,788,718 3,889,544 A100,826

1. ¥ S5A3EY 4,570 2,378 2,192
7t S A A A A 2,520
1) £98=% 210-01 |50,0009 x10&= 500
2) ZFArE(Ynh) 1,600
7H 71 & 210-06 160,000 x 17 X 247k x 53] = 1,600
3) dug 210—06 | 14,0009 X 3v X 11 X 24| 7+ X 53] = 420
|5 ISR Ea R RN s 2,050
1) o] AEAALE 210-01 50,0004 X 5% = 250
2) %) 310-06 |50,0009 %159 x 28] = 1,500
3) 393 230-02 15,0009 X 10% x 28] = 300

2. FAFAN A Y 3,376,778 3,481,578 104,800
7} 519 180,142
1) 29 620—03 |129,012,000¢= 129,012
2) A 620—10 |51,130,0009= 51,130
L =58 620—03 |1,060,644,0009= 1,060,644
o} T 828,483
1) 29 620—03 |251,558,0009= 251,558
2) A 620—10 |576,925,0009= 576,925
g2t 158w 852,964
1) 29 620—03 |519,303,000¢= 519,303
2) AH 620—10 |333,661,0009= 333,661
up, 758w 2= 454,545
1) 29 620—03 |283,216,0009 = 283,216
2) A 620—10 [171,329,0009= 171,329

3. 1A FAEA Y 380,420 378,638 1,782

—_L 3 —_L [e)
- H&ljﬂ"ﬂ - @.'J—J-’_H/l],;l:o
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7|88 &5 9A
71389 Ae R ERtnSA 9 (k] - xd9)
2 o) 1=
gopzg 22| B3| 2% Aol %A REXE 202411 (A) | 20234(B) | F7HA-B)
7F A 15,593
1) 29 620-03 11,136,0009= 11,136
2) AFY 620—10 |4,457,0009= 4,457
U, x5su 620—03 102,299,000 = 102,299
o}, = 88,817
1) 29 620-03 | 25,167,00091= 25,167
2) AFY 620—10 |63,650,000¢ = 63,650
g} 1Estw 83,711
1) 39 620—03 [49,711,0009= 49,711
2) A 620—10 |34,000,0009= 34,000
vh X3 FAEF A A 90,000
D A4 5,663
7H 3 620—-03 |3,708,0009 = 3,708
) A 620-10 |1,955,00091= 1,955
2) 258w 620—03 |33,575,0009 = 33,575
3) TSt 23,742
7H 39 620-03 |7,443,0009 = 7,443
) A 620-10 | 16,299,0009= 16,299
4) 31758kl 27,020
7H 39 620-03 15,822,0009= 15,822
) AFY 620-10 11,198,00091= 11,198
4, & FALHx}EE-S S ) 26,950 26,950 0
7F. FA 2 620-03 |2,450,0009 x11t]= 26,950
st FA A NA 1,939,543 250,390 1,689,153
1. &R FA 7| FUA L= 1,939,543 250,390 1,689,153
7F w3 F A 7 A 354,351
D A< 2,200
7H AFY 620—11 |2,200,0009 = 2,200
2) 258w 620—04 |135,855,0009= 135,855
3) T 48,426
7H B9 620-04 13,605,00091= 13,605
) A 620—11 |34,821,0009= 34,821
L - FollEFERE - BAFA - F49 - uFAAF AN
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718 A& e A
713y AgE e Rt S Y (k9] : x4
| [e) A=}
gopzg 22| B3| 2% Aol %A REXE 202411 (A) | 20234(B) | F7HA-B)
4) 153t 167,870
7H ¥4 620-04 |7,188,00094= 7,188
) A 620—11 |160,682,000¢= 160,682
w2 A A A g 1,585,192
1) FetF (A7) 3,710
7H AlZdH] 620-04 |3,710,0009= 3,710
2) A&7 A 1,581,482
71 <tz 274,454
(1) AAdn] 420-03 |1,894,0009 X 144.0m'= 272,736
(2) A Fn] 420-05 |272,736,000€ X 0.6299%= 1,718
) 48 146,375
(1) A1AdH] 420-03 |1,894,0009 X76.7998m'= 145,459
(2) A AHn] 420-05 | 145,459,0009 X0.6297 %= 916
) 22X 155,333
(1) AAn] 420-03 |1,894,0009 X 81.5m'= 154,361
(2) A AHEn) 420-05 |154,361,0009 X 0.6296%= 972
ZH) A% 188,807
(1) A A 420-02 [175,953,0009 X 4.97%= 8,745
(2) A)Adn] 420-03 |1,894,000¢ X 92.9m'= 175,953
(3) A AHEn] 420-05 |175,953,0009 X 0.63%= 1,109
(4) 7)1F+0]Adn) 620-03 |3,000,0009 = 3,000
up) ety x 426,354
(1) AAm 420-02 [399,009,000¢ X 4.97%= 19,831
(2) AAdn] 420-03 [1,894,0009¥ X 210.67m'= 399,009
(3) A E-t)n] 420-05 |399,009,000¢ X 0.63%= 2,514
(4) 717-0] ) 620—03 |5,000,0009 = 5,000
vl FA % 211,607
(1) A AMm] 420-02 197,544,0009 X 4.97%= 9,818
(2) A1AdH] 420-03 |1,894,000¢ X 104.2998m = 197,544
(3) A AH-n] 420-05 197,544,000 X0.63%= 1,245
(4) 7)F-0]AH) 620-03 |3,000,000¢ = 3,000
AP A% 162,605
W - Ol RFE LS - RAFA - FAWe - SuFA BN
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71389 Ae R ERtnSA 9 (k9] - A 9)
Bopunm| 4% [ €S AR Al =A% AE 2024'd(A) | 20239(B) | F7(A-B)
A b | AR
(1) AAM 420—02 |151,141,00049 X 4.97%= 7,512
(2) AAH] 420-03 |1,894,0009 X 79.7998m' = 151,141
(3) A]AHKn) 420-05 151,141,000 X0.6298%= 952
(4) 7)7+0]AdH] 620-03 |3,000,000¢= 3,000
o) I E=x (F) 15,947
(1) A)1AH] 620—04 [15,947,0009= 15,947
B A A =) L FAa 16,093,434 15,099,865 993,569
A B P ] 7,363,078 6,837,803 525,275
ST R S| 7,363,078 6,837,803 525,275
1. St 7| 2891 6,515,921 6,627,803 A111,882
7 429 620-02 |775,782,000¢9= 775,782
U 258y 620—02 |4,320,107,0009= 4,320,107
o}, =8w 620-02 | 1,420,032,0009= 1,420,032
2. st 7] el-2-Au| x4 847,157 210,000 637,157
7h sk e 7l A 170,000
1) &x9 620-04 |4,047,0009= 4,047
2) 2538w 620-04 85,013,0009= 85,013
3) £ 620—04 |52,611,00091= 52,611
4) 1538w 620—04 |28,329,0009= 28,329
L wEgtE o A A 677.157
1) 258w 620—04 |313,159,0009= 313,159
2) =8 620—04 [22,310,0009= 22,310
3) 1538w 620—04 |341,688,0009= 341,688
AFeHA A A Y 8,730,356 8,262,062 468,294
AAH| AR A TR Y 7,089,297 7,007,445 81,852
1. QA8 AR E TR Z 7,089,297 7,007,445 81,852
7F az7An A Y 620-08 7,089,297,0009= 7,089,297
LA AR A TA Y 1,641,059 1,254,617 386,442
1. $9u|AMAAT R ZE 1,380,635 1,145,771 234,864
7}, st 7] E-2-¢dn) 620—09 |1,380,635,0009= 1,380,635
2. A & w7 ek gu| X g 260,424 108,846 151,578
7}, 1ol 7N A 260,424

- guAgAaRy - ASAEAL - S AGE AL
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718 s AR R u SA 4% (el - de)
o 1=]
gopzg 22| B3| 2% Aol %A% e N 202411 () | 20239(B) | F7HA-B)
1) =& 620—11 |238,424,0009= 238,424
2) 158w 620—11 22,000,000 = 22,000
A A A ANA 13,429,312 23,481,609| 210,052,297
st A AN 13,429,312 23,481,609| A10,052,297
BuAAdFgE 12,579 10,169,194 210,156,615
1. 23X EAA 12,579 13,050 2471
7} S EF 39 PP A 12,579
1) AAm] 420—-02 |11,420,0009 X 10.145%= 1,159
2) A]Adn) 420-03 |161,990¢1x61.3m X 115%= 11,420
A A A NA 13,416,733 13,312,415 104,318
1. LA SA 4,795,692 2,121,207 2,674,485
7} vk 895,987
1) A AN 420-02 |235,790,00049 X 3.5667%= 8,410
2) Al 881,110
7 FLEGH Y (24 420-03 |12,410,0009 x 54 = 62,050
) WAk (24 420—-03 |12,410,0009 x84 = 99,280
oh) A% (9]H) 420-03 |6,205,0009 X164 = 99,280
Zh) Fordx (24 420-03 |12,410,0009 x 34 = 37,230
uh) BolE % (24 420-03 |12,410,0009 x 64 = 74,460
vh) F-obE = (9]H) 420-03 |6,205,0009 x 132 = 80,665
AP 9% (24 420—-03 |12,410,0009 x 34 = 37,230
o) A&Ex(99) 420-03 16,205,0009 x 44 = 24,820
2} FolE (24)) 420—-03 |12,410,0009 X 3.54= 43,435
2} A E(9H) 420-03 |6,205,0009 x 52 = 31,025
7H F-<eta (=4 420-03 [12,410,0009 x 32 = 37,230
EP) A7 (EAE LA 420-03 |12,410,0009 x 164 = 198,560
) A (T]S5AFEAD 420-03 [12,410,0009 x4.54 = 55,845
3) A En) 420—05 |881,110,0004 X 0.7339%= 6,467
U, e 814,067
1) A AN 420-02 |799,196,0009 X 1.1947%= 9,548
2) A]Adn) 799,196
7 eSS 420-03 |17,187,0009 x 8,54 = 146,090

WxZ=g8 — 3ty

|27 -

of

6‘1—5/_/\]@7]}/&% —

= i

T A S A

J
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718 s AR R u SA 4% (2]« 79
| [} i=]
gopzg 22| B3| 2% Aol %A% e N 202411 () | 20239(B) | F7HA-B)
) Fobdx 420-03 [17,187,0009 x 14 = 17,187
o} HekE 420-03 |17,187,0009 x 374 = 635,919
3) Al H-of 8] 420-05 |799,196,0009 X 0.666%= 5,323
o} 2R A 24,120
1) A1AH] 24,120
7H Fax(EUE) 420-03 12,010,000 x1274= 24,120
gt hA ST A A g el g 480,560
1) AlAdH] 420—03 |1,735,0009 X 275m'= 477,125
2) A7 -t ] 420-05 |477,125,000€1 X0.7199%= 3,435
af, F-_bal 7| s A Al 2,268,788
1) A]AdH] 420-03 [1,522,0009 x1,485.3m'= 2,260,650
2) Al En] 420-05 |2,260,650,0009 %0.35998%= 8,138
b, A5 A 294,950
1) A1AH] 293,330
7 8 = (X B TA) 420-03 |16,190,000€ X 14 = 16,190
W) st S (KB wA) 420-03 [16,190,0009 X 64 = 97,140
th) &M= (HBAE) 420-03 |180,000,000€ X 14 = 180,000
2) At 420-05 1293,330,0009 X 0.552%= 1,620
Ab. Aol o) Al A gk 17,220
1) 71epA A A 17,220
7h HAE 620—04 |2,450,000¢ x 14]= 2,450
) F-_tar 620—04 |14,770,0009 x 12 = 14,770
2. SAAENA 39,354 168,814 129,460
A e M R 39,354
1) A1AH] 39,354
b M= 420-03 |39,354,0009 x 14 = 39,354
3. A AdbAANA 906,587 3,083,662 272,177,075
4 R R R e 20,362
1) A1AH] 20,362
7h A %(1272.5m") 420—03 [4,0009%x1,272.5m'= 5,090
) 9% (970m) 420-03 |4,0009 X 970m'= 3,880
oh) AlskE (2848m) 420-03 |4,0009 X 2,848m'= 11,392
I — Fold2F oS — StuAAAANA — SwA A — A AN
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713y AgE e Rt S Y (el - dd
74 o) 1=
gopzg 22| B3| 2% NESIE == BERE 20244 (A) | 2023d(B) | Z7H(A-B)

. =2fo|H| E A 864,877
1) A4 859,248
7h e 420-03 |22,032,0009 x 82 = 176,256
W) ddx 420-03 |22,032,0009 x 121= 22,032
o X% 420-03 |22,032,0009 x 174 = 374,544
2}) F-3kF 420-03 |22,032,0009 x 132 = 286,416
2) A7 -] 420-05 |859,248,0009 X 0.655%= 5,629
o}, 71 et 21,348
1) AxrzxHAFAR5TE9) 620-04 |537,000€1 X 43| = 2,148
2) MAZ7TH (M HNERES) | 420-03 |800,0009 X 247)= 19,200

4. F-AANA 186,000 672,274 £486,274
7L AdER 124,800
1) A]Adn) 124,800
7h otz 420-03 |1,920,000¢) X 65m= 124,800
U 3 61,200
1) A1AH] 61,200
71 stz 420-03 |102,000¢ X 600m'= 61,200

5. A71A 2 A 36,000 140,520 A104,520
7}, 71k 36,000
1) WHARS (B 3712 5) 420-03 |6,000,0009 X 67 = 36,000

6. AU ES5-83F 105,395 93,390 12,005
7}, AAAALE S A 105,395
1) Axz= 620—04 |8,450,0009 x12= 8,450
2) F-ekx 620—04 |11,350,0009 x12]= 11,350
3) etz 620—04 |12,650,0009 x 14 = 12,650
4) GdH=x 620—-04 |5,070,0009 x 12 = 5,070
5 Y= 620—04 |5,100,000¢ x 14]= 5,100
6) gtz 620—04 |4,000,0009 x 14 = 4,000
7) 3 F 620-04 |600,0009 X 14 = 600
8) F-<kar 620-04 |46,020,0009 x 14] = 46,020
9) AMe 620-04 |12,155,0009 x 124 = 12,155

7. AN 490,640 226,306 264,334

W8 - folxFEas — A AR — SR — Sl AN
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7|8 AlEZ5 UG A
71389 Ae R ERtnSA 9 (2] = 9
74 o) 1=
woipy B3| T3 | 0T Aol %A% e N 202411 () | 20239(B) | F7HA-B)
7}, A ) A 490,640
1) A AN 420-02 |472,905,000¢ X6.06% X 50%= 14,330
2) Al/dn] 472,905
7hH FtEx 420-03 |105,090,0009 x 4,52 = 472,905
3) Al 420-05 |472,905,0009 X0.720%= 3,405
8. AA A (A FE) 213,952 2,336,652 £A2,122,700
7F 2] H-A s w A 193,912
1) Al4dn] 193,912
7 AT (3 %) 620-11 |193,912,000€ X 14 = 193,912
L ol ol oA &% 20,040
1) 71 A A 20,040
7hH WAL= 620—11 |20,040,000¥ x 12 = 20,040
9. Al etAANA (AF) 7,200 350,000 A342,800
7}. 71EF 7,200
1) 3Tz @dTSAAE T ES) 620—11 |800,000¢ X 67l = 4,800
2) AdZE WA TS EE G ES) 620-11 |800,0004] x 37}= 2,400
10. AZAEAA (AH) 64,830 40,000 24,830
7F A A A NA 64,830
1) A1AH] 64,830
7FH WAL= 620—11 |64,830,0009 x 14 = 64,830
11, HBY A EFE 3 (AH) 81,420 30,045 51,375
7t A A AL B A 81,420
1) 5% 620—11 |81,420,000¢ x 14 = 81,420
12. IR AVEAZ 6,489,663 3,291,158 3,198,505
7V AXZITAFNE 3,277,893
1) AJAH] 420-03 [3,266,525,0009 x 12 = 3,266,525
2) Al Eon] 420-05 |3,266,525,0009 X 0.348%= 11,368
L, Pty s ndey 3,211,770
1) A1Adn] 420-03 [2,764,195,0009 x 12 = 2,764,195
2) Al H-tn) 420-05 |2,764,195,00049 X 0.360%= 9,952
3) I ARE AFZH| ] 620-04 [437,623,0009 X 141= 437,623
R A 840 0 840
W - FANF
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7184 AEFEWSA
719 ABREERw S A (&9l - 2D
2 o 1=]
gopzg 22| B3| 2% Aol %A% e N 202411 () | 20239(B) | F7HA-B)
BRI 840 0 840
PR TS 840 0 840
BRLSAELED 840 0 840
1. 5EE2EN48eY 840 0 840
L e EE 210-01 |15,000€l X 8%= 120
\ U, A 210-06 100,000 X 6% = 600
-tk g3 230-02 15,0009 x84 x 18] = 120
Feolnt 4,398,718 1,321,010 3,077,708
S L 3,862,559 897,166 2,965,393
PEREENRS E 10,030 10,030 0
&Y A7 8 A 8,210 8,210 0
L. FogdFAgd+g34 8,210 8,210 0
7}, F-Qbw &4 v 8] 6,710
1) $ogx 210-01 |50,0009 x 10%= 500
2) A=A 2+ 210-01 |30,00091 % 207%-= 6,210
U FoAFAE LG 210-01 |15,0009 X 50% < 23] = 1,500
H] g i) A 8 8- 1,820 1,820 0
L. B4t Al Y 2 Qe 1,040 1,040 0
7h A &ebd k= 1,040
R 210-01 (50,0009 x 4%= 200
2) HHE=m o) 210-01 |70,0009 x 127]= 840
2. EAHSAF 780 780 0
7F =9 EF 210-01 |50,00091 X 6% = 300
L}, 7FAn) 230-02 |3,0009 X 40 x 48] = 480
TAPH 5§22 14,224 4,932 9,292
A 3 14,224 4,932 9,292
1. A=A ZA 3,080 2,100 980
7}, A2 A 2 210-01 |6,0009 X 2% x 90 = 1,080
L}, ZFAFEE ) 250-04 |10,0009 x 47 x 503] = 2,000
2. Fo ALY o A 73} 11,144 2,832 8,312
7h A dEote] 9 1,020
1) == A = 210-01 |6,0009 X505 x 23] = 600
WS - WY - WS Y LN — AP ] - Ak
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B8 AEZE YA
713 - AEE Rk S 9 (k9] : x4
= [$) H

Bopnm j};‘ ?}g jg Apeiu el == e 20249 (A) | 20239(B) | ZE7(A-B)

2) &3 230-02 |15,00091 x 147 x 23] = 420

L+ 2 e 10,124

) Sl 210-01 |50,000¢) x 2% x 23] = 200

2)Xk§xﬂ§‘ 210-01 |25,0009 X 150% x 23] = 7,500

3) A (YR 1,920

7hH 712 210-06 |160,0009 x 11 X 24| 7k X 63] = 1,920

1) A8 210-06 |14,0009 X 31} X 17 X 24| 7} 6.3] = 504
7|39 710 22 g 1,000 2,828 71,828
FANAGEA A 1,000 1,000 0
1. 28R I3} 1,000 1,000 0

7h =AY 210-01 (20,0009 x50 = 1,000
R B B R A B PR R BN 10,474 9,129 1,345
TSP AR BA AL 5,859 4,419 1,440
LA AYEL LY 5,859 4,419 1,440

7}, AR S A2 3,000

1) AALEUPCS 210-15 |100,0009 x 10% x 33| = 3,000

U Ak - 2,859

1) H/WSA 52 210-09 |17,735,0009) x 8%= 1,419

2) UPSHIE 2] 1A 210-09 1,440,000 x12]= 1,440
R Pk 4,615 4,710 A95
1. 7|1EEREEAEL 4,615 4,710 A95

7t 7153 4,100

1) RELE 210-01 |100,0009 x 25% x 13] = 2,500

2) 7|Z2E29 78L& 210-01 |1,600,0009 x 1% x13]= 1,600

W SEd e A LS 210

1) 7FAn) 230-02 |3,000¢1 351 x 23] = 210

th 71 E=H 71 & 9] 305

1) A2} 210-06 |100,0009 x 27 x 18] = 200

2) ¥ ]3] 230-02 |15,0009 X7 x 18] = 105
oAt #e 1,635 1,635 0
itz 1,635 1,635 0
|1 AEI A GAHEAZ =R 1,635 1,635 0

=]

WE - wEAN - WP ARE — oA @AY - ik
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AR s B Rt ety S) ks S R (k9] : x4
2 o) 1=
gopzg 22| B3| 2% Agvle %5 SENE 2024(A) | 20239 (B) | F7HA-B)
7}, Az A =+ 210-01 |16,0009 x 60%= 960
L}, &9 3 230-02 |15,0009 X 15 x 33]= 675
A =-73) 202,780 141,812 60,968
TS AU EZ g 202,780 141,812 60,968
1. ZZSAA#T 8,040 7,460 580
7V AR S 210-01 |500,0009 x10%8] = 5,000
. 3G AEA 0] 3] J A S 210-06 |100,0009 x 47 x 43]= 1,600
t}. &2 3 230-02 |15,0009 x 127 x 48] = 720
. I A=) 250-04 [60,0009 X1 x12¢¥= 720
2. R A AT 164,831 43,000 121,831
7. w2 27,275
1) HmsA Ay 210-09 |3,500,000€ x 67} 1 = 21,000
2) HlEdA 6,275
71 A AT A A 420-03 |251,0009 x 25m'= 6,275
L e RS e 137,556
1) $99n) 12,000
7H +98F 210-01 |50,0009 X 24F X 43]= 4,800
W) AR ZLul 210-01 |600,0009 x 22 x 63] = 7,200
2) A 9,300
7H AatRSA 210-09 |1,000,000¢ x 43]= 4,000
) ol An 210-13 |200,0009 x12¢= 2,400
oh) 2HrobA #Hg 210-13 |100,0009 x12¢= 1,200
b 2 7]ekA A 210-13 |100,0009 x12¢= 1,200
) W AsE 210—13 |100,0009 x 53] = 500
3) TEFLFLAA 4,500
7hH A7) e 210-02 |200,0009 x 129 = 2,400
W) date s 210-02 |35,0009 x 129 = 420
h Aetrre = 210-02 90,0009 x 129 = 1,080
) F47) e 210-09 |50,0009 x 129 = 600
4) B4 89,177
7h) A A ) 420-02 |84,605,0009 % 4.454%= 3,769
1}) A Al 84,605
T - ISYN - 2SI - AFHY - F AL EE R
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71838 A4S SIA
719 AR et S A A% (k9] - d4d
2 o 1=]
gopzg 22| B3| 2% Aol %A% Az 202411 () | 20239(B) | F7HA-B)
(D g 420-03 [31,780,0009 x 124= 31,780
(2) AARF 420-03 |18,050,0009 x 2,54 = 45,125
(3) =HAAANA 420—03 3,080,000 x 2.54 = 7,700
th) A]AdEujjn 420—-05 |84,605,000€ X 0.948%= 803
5) w3 A EZ A 22,579
7H WAl 2 E G A 420-03 89,0009 X 231 m'= 20,559
W) WA = AR AT 420—03 89,0009 X 22.69m'= 2,020
3. A ATFA A T A 3] 29,909 28,717 1,192
7F WS A A A 3 A 3] 8] 210-02 129,909,000¢ x 124 = 29,909
g ujj x) A & 3,489,779 591,996 2,897,783
A vl X A 3 2] 875,411 511,996 363,415
1. 28 Ax4g 720,928 362,094 358,834
7}, E=hn] Ak w S 1,000
1) $oa=x 210-01 |24,00090 X 103 x 23] = 480
2) 7 (YN 400
71 7] 210-06 |100,000€ X 17 x 243k x 23] = 400
3) g 210—06 [10,00090 X 31 X 1§ X 2|7k x 23] = 120
B ok A A A8 e 25,680
1) Bt g A 2gas 600
7hH &9 8% 210-01 |50,0009 x8% x13]= 400
W) Ak (EE) 200
(1) 71& 210-06 |50,00091 x 24 X 2413k x 18] = 200
2) GNSS&2-7] 430-01 |1,320,0009 x 19th= 25,080
o} A7) 2= A A LA A 420—-03 |78,000,000¢ x 1t = 78,000
2, E8hH A A 4] 430-01 |220,000,000¢ X 1th= 220,000
vt AAH AR E 208,048
1) 253w 620—03 |208,048,0009= 208,048
i, E 8t 2] 182,200
1) 459 620—03 |15,172,0009= 15,172
2) 2538w 620—03 |167,028,0009= 167,028
A}, 9 A2t Al AN 110-03 |150,000€ X 408 = 6,000
2. A EEZY 154,483 148,172 6,311
W - wgek — w &g A — YA E — st A A 2 e
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18 AEZHEY A
A
Abd ] < A5 Ed e 2024 (A) | 202349 (B) (A-B)

7}. k<) 19,600
1) Alel Ay 310-01 |400,0009 X1 x9¥= 3,600
2) Ay 310-01 400,0009 x 47 X108 = 16,000
U, BAR R Y 620—-03 |134,883,000¢= 134,883

AAFRETSA 2,614,368 80,000 2,534,368

1. AAFESaSAAAL 2,614,368 80,000 2,534,368
7}, B AR QA Z 2,612,368
1) sk % ﬂ:;ﬂr?qg o= 620—03 |170,000,00091= 170,000
2) A2 ANAEE 620-03 130,670,0009= 130,670
3) x| An = 430—-01 |65,181,0009= 65,181
4) 2w AN E 430-01 22,476,0009= 22,476
5) St 2= HIEE 430-01 [12,000,0009= 12,000
6) AEZ TSI SI=Y 620-03 80,000,0009= 80,000
7) AE XA NAALY 420-03 |599,693,0009 = 599,693
8) Yotz w S xY 620-03 90,000,0009= 90,000
9) Felt=stHMAE=E 620-03 |75,000,0009 = 75,000
10) H-¢t=3A3 N AAY 420-03 | 1,367,348,0009= 1,367,348
U AR S F0e 2,000
AL 210-01 |50,0009 X 4% x 48] = 800
2) HETT 480
71 7= 210—06 40,0009 x 21 x 48] = 320
W) 3 210-06 20,0009 x 27 x 43| = 160
3) 93 230-02 15,0009 X127 x 43]= 720

14,340 14,459 A119

Ful gl 3 9,940 10,874 2934

1. & u2g 93 A 5,392 5,710 A318
7} smed s 5,392
1) 9= 210-01 |50,00091 X 13% x 23] = 1,300
2) A (dRh) 960
7h 7)1 210-06 |160,0004€ X 17 X 22|13k 38] = 960
3) g 210-06 [14,0009¥ x 31} X 17 X 2A] 7k x 33| = 252
4) BFE AN 310—-06 |11,000¢1 %407 x33]= 1,320

WS - YT - wSPYA - wHFHY - FRRUF S
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EEFIuSA A A9
o A A < 5—A= A= 2024 (A) | 202349 (B) (A-B)
A A ; a a = - = =

5) 7H2H] 310-06 |3,0009 X409 x 33| = 360

6) 23 230-02 |15,00091 x40 x 23] = 1,200
LSRRI EASA Y 4,548 5,164 A616

7t EH-EAFTUE A A 4,548

1) &98F 210—01 |50,0009 X 10% x 23] = 1,000

2) ZFAFTE (A Hh) 1,920

7h 7)8 210-06 |160,0009 x 1% x 247k x 63] = 1,920

3) d1s 210-06 |14,0009 X 3 X 17 X 24| 7k X 23] = 168

4) SHE-R2An] 310-06 |11,0009 x40 x 13]= 440

5) 7+-41H] 310-06 3,0009] x40 X 13]= 120

6) & 23 230-02 |15,00091 X 20 x 33| = 900
&Py 4,400 3,585 815
IS EYHARA 43 E 3,200 2,200 1,000

7h IS AH YA 3,200

1) 9&%F 210—01 |50,0009 X 14%F x 28] = 1,400

2) FAFI 210-06 |100,0009 x 9% x 23] = 1,800
2. 3SA AR NS FHYA A 1,200 1,385 A185

7h S H AN F3 1,200

1) $ojg= 210-01 |50,0009 x 9% = 450

2) & 9] 3 230-02 |15,0009 X 10 x 53] = 750
A ALY #E 118,297 120,345 £~2,048
A A 118,297 120,345 £2,048
1. AJEAFE XA ¢ 118,297 120,345 £2,048

7h. B A A A e 118,297

1) &A 210-09 [96,928,0009 x 12 = 96,928

2) 4Ly 210-13 |20,546,0009 x 14]= 20,546

3) Al -t 420-05 823,000 x 14 = 823
T2 536,159 423,844 112,315
71829 525,959 413,644 112,315
71#71 89| 525,959 413,644 112,315
712 JFF314] 33,340 32,780 560

b 7137229 7] 33,340

= 713 = 7129 n] - 7B EL-G)




At & LA & =gl 2024 (A) | 202349 (B)

1) 7| B NG R 250-02 400,000 x12€9= 4,800
2) 71 AR 230-01 |23,100,00091= 23,100
3) L7 F-FE 1] 230-03 80,0009 X 687 = 5,440

FEA 71239 73H] 186,870 150,468
AT = S R 88,167
1) dRE2-GH] 10,681
7h B 210-01 |1,200,0009= 1,200
) Al 210-01 |499,0009 x 194 = 9,481
2) Eu) A ) 210-05 18,0009 %19 x4338]= 6,536
3) =ujon] 62,130
7hH ) 220-01 |20,000¢ x 19 x538]= 20,140
) T 220-01 50,0009 x 197 x 338]= 31,350
hH ©9 220-01 80,0009 X197 X 73] = 10,640
4) F-A 7] 5,220
7H A 210—15 |400,0009x12¢¥= 4,800
W) FIHE 210—15 |5,0009 x79 x12¢¥= 420
5) 2 A F I ) 250-02 |100,0009 x12¢9= 1,200
6) 5447741 2,400
7H BARS(EY)FEy 250-03 [60,0009 x 1% x12¢¥= 720
W stur A (S84 5 250-03 [80,0009 x 1% x12¢¥= 960
) st RA (RS E R 250-03 |60,0009x 1% x 129 = 720
L A A 98,703
1) URE2-GH] 15,671
b B 210-01 |1,200,0009= 1,200
) Al 210-01 |499,0009¢ x 291 = 14,471
2) EZuj)Aln] 210-05 | 8,0009 x 297 x313]= 7,192
3) =ujon] 59,160
7H ) 220-01 20,0009 X 297 X 308] = 17,400
) = 220-01 50,0009 X 297 X 168] = 23,200
o = 220-01 80,0009 X297 x 838] = 18,560
4) B9 7 210-15 400,000 x12€9= 4,800
2 =3 A 250—02 [100,0009 x12¥9= 1,200

40




Abd ] < A5 Ed e 2024 (A) | 202349 (B)
6) 54 AF40] 10,680
7h At S 250-03 |80,0009 x 27 x 129 = 1,920
) A ul x| e 9] 250-03 |100,0009 x 14 x 12€ = 1,200
o) datgd a4 250-03 |150,0009 x 3% x 129= 5,400
) AT TR 250-03 60,0009 x 3% x 129 = 2,160
3. 71E29 AN 225,300
7t 35 e WL AA 68,773
1) Z+x5e 210-01 |208,25091 x43]= 833
2) AAAARZRH 7 210-02 |100,0009 x 173 = 1,700
3) A7 210-02 |3,200,0009 x 12€= 38,400
4) Ao 210-02 |1,050,0009 x 12¢= 12,600
5) Q1E] Yl = AlH] 210-02 |400,0009 x 12€= 4,800
6) AstrE o 210-02 |320,0009 x 12¢ = 3,840
7) FHEL 210-02 |100,0009 x 12¢ = 1,200
8) TAFTE|H 210-02 |450,0009 x 129 = 5,400
. AL 86,788
1) FAAFGA S 210-09 |3,024,0009 x12¢= 36,288
2) BALGA RS 210-09 |200,0009 x 3521 = 7,000
3) #ALEA A 210-09 |100,0009 x 352 = 3,500
4) TAFH 21 210-13 |500,0009 x 2% = 1,000
5) wperal kel y) 3 A 8ol 210-13 |3,000,000¢ X 23] = 6,000
6) vl A= g ol 210—-13 |600,000€ x53]= 3,000
RE =TS0 PARN - R 210-09 22,000,000 x 12]= 22,000
8) tlxEekhyt] ~Zgo] & 430-01 |8,000,000¢ x 1t = 8,000
th A E A B 21,424
1) 447 #z 210-09 |667,0009 x 12¢= 8,004
2) vl B 210-09 30,0009 x 40th= 1,200
3) 2HA A G-R) B2 210-13 |160,0009 x 12¢ = 1,920
4) A7)t #2] o) 38 210-13 [125,0009x12¢¥= 1,500
5) 77 FA BT 210-13 [210,0009 x12¥= 2,520
6) 3EA| LB G K 210-13 |550,0009 x 43| = 2,200
7) Aot BA SR K= 210-13 |170,0009 x 129 = 2,040

3] — 7] 97) 2
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J1E AEZEY A
R B R (5] 2l
2 [e) 1=}
gopzg 22| B3| 2% Aol %A% Az 202411 () | 20239(B) | F7HA-B)
8) HAFE A B 210-13 |170,0009 x129= 2,040
2} 2w 3,600
1) FelAn g9 210-13 |300,0009 x 129 = 3,600
oh, HgatEE 19,375
1) W& 58 (25,000kmelA) 210-10 19,135,0009 x 1= 9,135
2) &858 (10,000kmeo]”d) 210-10 |10,048,000¢1 x 1t} = 10,048
3) WAl T 210-02 |16,0009 x 129 = 192
HE A RE- G 7 H] 6,360
1) 7Y = 210-01 |20,0009 x19% x 12¢= 4,560
2) ¥ Hn) 210-03 |300,0009 X 6= 1,800
A AR A 18,980
D A5FE A 430-01 |1,050,0009 % 6t} = 6,300
2) NG RUE 430-01 |250,000¢ x 60 = 1,500
3) THE (A4,5) 430-01 |450,0009 x5u)= 2,250
4) M 430—-01 |480,0009 X 674= 2,880
5) 2 430-01 |250,0009 x 17= 250
6) MEZ A 430-01 |500,000¢1 % 17]= 500
7) AT 27 430-01 |500,0009 % 17]= 500
8) WA 430-01 |550,0009) x 271 = 1,100
9) FH7T 257 430-01 |500,0009 x 17}= 500
10) Al&E7] 430-01 |1,600,0009 x 27]= 3,200
4. 7| EtN A9 80,449 33,636 46,813
}. A Zord AL 80,449
D &3 o= ZAA 16,356
7H A7 L= 210-02 [830,0009 x 124 = 9,960
) dste = 210-02 (50,0009 x 129 = 600
) Aslr QT 210-02 |100,0009 x 12¢4= 1,200
Zh) gL T 210-02 |15,0009 x 10t x12¢¥= 1,800
vh A7 AA"A DTS 210-13 [90,0009 x12¢9= 1,080
v AU A A A E 210-13 |88,0009 x 12¢= 1,056
AP A7) GH B 210-09 |55,00091 x 129= 660
2) A Fopd A9z B 210-09 600,000 x12¢= 7,200
W = WEA - VERY - 712G - 71872
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713 AR et A4 9% )
o} ?}Zj ?}2 ﬂjﬂj ALRE 2-Ae AE Y 20249(A) | 20234 (B) (A-B)
3) A %2 210-09 2,000,000¢ x 28] = 4,000
4) 22 e 8,160
7hH A ¢ 210-06 [60,00091 x100¥ = 6,000
W) FolAu g 210-13 |180,0009 x 12€= 2,160
5) &l gn) 210-08 |1,357€ X823k x 902 x 2tf = 1,955
6) o] 220-01 |20,0009 x 1 x 313]= 620
7) B3N 42,158
7h) A7) FAF 420-03 |5,755,0009 x 12]= 5,755
) o Ewj o 2A} 420-03 |1,165,0009 x 12]= 1,165
th) 2l ZA} 420-03 |7,790,0009 x 12]= 7,790
) AE7) 430-01 |19,103,0009 x 1t}= 19,103
) Az 430-01 8,345,000 x 1t} = 8,345
TEHA 7 AAA 10,200 10,200 0
71 BA A SR B 10,200 10,200 0
1. AL A A 10,200 10,200 0
7}, BAGA T 210-09 300,000€ x 344t = 10,200
71 et 3,286,842 2,617,082 669,760
H 3,286,842 2,617,082 669,760
QAN 3,286,842 2,617,082 669,760
221 AN 3,286,842 2,617,082 669,760
TS ZER AN 3,286,842 2,617,082 669,760
1. 2SS T EA YA B 3,286,842 2,617,082 669,760
7}, W FA F ARl A ] 1,500,802
1) 718+ 110-04 11,918,00091 x33W x 128 = 759,528
2) Z&geny 110-04 608,439 x33% x 12€= 240,942
3) 2218 110-04 |140,0009 %33 x 129 = 55,440
4) 7VErE 110-04 54,2429 x33% x 129 = 21,480
5) WAS/IR A 110-04 |800,0009 X 33 x 23] = 52,800
6) A7) = 110-04 |500,000¢ % 33% x 28] = 33,000
7) Az 110-04 2,158,070 x 33 = 71,217
8) ub=3] 2 2] n) 240-02 |798,4849 x 331 = 26,350
9) ¥AAY= 320-12 |3,055,6969 x 339 = 100,838
71ef — Q1zdn] — Q1An] — ZFEARIAN] — wSFFA 71|
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goppy 8 | ®A ) AF Apel el R Az o] 2024d(A) | 20234 (B
A AR | A i T e N =
10) 4RI 7| BB HF 320—-12 |37,232,0739 X339 x11.33%= 139,207
U}, 3paha ARl 7w 56,755
1) 718+ 110-04 [1,918,0009x 1™ x12¢¥= 23,016
2) &4 110-04 |760,50091 x 14 x 129 = 9,126
3) 41 110-04 [140,0009 x 19 x 129 = 1,680
4) 7t5ad 110-04 [150,0009 %1 x12€= 1,800
5) WAFIIR A 110—04 [800,000€ x 1 x 23] = 1,600
6) A7 110-04 |500,000¢1 x 174 x 23] = 1,000
7) 2RSS 110-04 [162,9509 x 1% x403] = 6,518
8) x4 110—04 |2,430,0009 % 1= 2,430
9) k=3 X 2)n) 240-02 |650,0009 x 1= 650
10) 8= &+ 320—12 |3,600,000¢ x 1= 3,600
11) 4| Rd7|d I+ 320—12 |47,080,0009 x11.33%= 5,335
o} PR S A A7) 55,877
D 71 110-04 |2,376,8309 x 1% x 129 = 28,522
2) L&) 110-04 |727,08090 %19 x129= 8,725
3) F24H) 110—04 [140,0009 x 19 x 129 = 1,680
4) JAZFII R AL 110-04 |1,450,0009 x 19 x 23] = 2,900
5) 2L FESFF 110-04 [125,0009 X 19 x 20 = 2,500
6) dAx4F 110-04 |2,800,0009 x 194 = 2,800
7) 4b=3 H 2 h) 240-02 |650,000¢ x 1= 650
8) Bl RAYF 320—12 |3,000,000¢ x 1= 3,000
9) 4BV AFRE G 320-12 |45,013,2309 x11.33%= 5,100
2k AR AR 2] 48,840
D 715 110-04 [1,918,00091 x 11 x 129 = 23,016
2) &5 110-04 |702,0009 x 19 x 129 = 8,424
3) F2H) 110-04 |140,00090x 19 x129= 1,680
1) 7= 110—04 [110,0009 x 19 x 129 = 1,320
5) HAZIRAF 110-04 800,000 x 17 x 23] = 1,600
6) 7)Ao+ 110—04 |500,000€ x 17 x 23] = 1,000
7) 2HRIFTG 110-04 |100,0009 x 19 x 109 = 1,000
8) Ax44F 110-04 2,000,000 x 1= 2,000

et — QdE) — A - ERAAAN - LKA A7) 44




At & E=A= 2= < 2024 (A) | 202349 (B)
9) W3 E 2)n) 240—-02 |1,000,000¢ x 1= 1,000
10) §A A+ 320-12 |3,000,0009 x 1= 3,000
1) ARV AF = 320-12 [42,365,4009 x11.33%= 4,800
ul, Al e Q1 7n) 554,368
1) 7185 110-04 [1,438,5009 %21 x12¢9= 362,502
2) F2H) 110-04 |140,00091 %219 x129= 35,280
3) Axt5 110-04 |971,5209 %219 = 20,402
4) AT AL 110-04 |800,000¢1 x 2174 x 23] = 33,600
5) A7) 110-04 |250,0009 x 219 X 23] = 10,500
6) =3 E 2)H) 240-02 |866,6669x21%= 18,200
7) AR 7| BRI 320-12 [14,974,9929x21% x11.33%= 35,630
8) HAAHE 320—-12 [1,821,6009x219= 38,254
vb, m gk ] (54 %) 50,091
1) 718 110-04 [1,318,6259x2% x12¢9= 31,647
2) F24H) 110-04 |140,0009 x 29 x 129 = 3,360
3) HAZTIIR AL 110-04 |800,000¢ x 27 x 23] = 3,200
4) 714+ 110—04 |250,000€ x 2 x 23] = 1,000
5) Az 110-04 |975,5009 x 29 = 1,951
6) k=3 H 2)n) 240—-02 [825,0009 x2%= 1,650
7) HAAHT 320-12 |1,500,0009 x 27 = 3,000
) ARV IGF 320-12 [37,798,0009 X 11.33%= 4,283
Ab. w1 sk 1] (i) 448,571
D 7= 110-04 |1,198,7509 x 229 x 10€9 = 263,725
2) =211 110-04 |140,0009 X229 x 109 = 30,800
3) HAZIR A 110-04 |800,000¢ x 2274 x 23] = 35,200
4) A7 110-04 |250,0009 x 22 X 23] = 11,000
5) Az 110-04 |798,090¢1 x 229 = 17,558
6) 4b=3]H 2)n) 240—-02 |872,7279x22% = 19,200
7) HAAY 320—12 |1,544,7009 %229 = 33,984
) A LI V| BRI 320—-12 |14,885,6619 %228 x11.33%= 37,104
oF. %58k 29k A ALl 7] 452,855
1) 7185 110-04 [959,0009 %219 x10€= 201,390

718F — 13H] -
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AR s B Rt ety S) ks S R (k9] : x4
Z] 20 S n
gy 7 ?};3 fg NENE o= RENE 2024 (A) | 20239(B) | Z%(A-B)
2) <559 110-04 193,6079x21% X129 = 48,789
3) 241 110-04 |140,0009 x 209 x 109 = 28,000
4) V&S 110—04 |55,2949 <179 x129= 11,280
5 WAZTIR AT 110-04 [800,000¢ x 20 x 23] = 32,000
6) A7) o= 110-04 [250,0009 x 217 x 28] = 10,500
7) Ao 110-04 863,073 x 204 = 17,262
8) ub33] 2 2| 240-02 |769,0479 %21 = 16,150
9) HAAY= 320-12 |2,145,5009 x21%= 45,056
10) 40 X3 7| PR o= 320-12 |17,832,0149 %218 X 11.33%= 42 428
b WeeAlH A4 EAFI 71 H] 118,683
1) 718+ 110-04 2,118,000 x 38 x 12¢= 76,248
2) T2} 110-04 |182,0009 x 3% x 129 = 6,552
3) F4H) 110-04 [140,00091 %38 x 12¢= 5,040
4) V2S5 110-04 60,0009 x 398 x 129 = 2,160
5) WAFIIRAZF 110—04 |800,000¢ x 3 x 23] = 4,800
6) A7)+ 110-04 |500,0009 x 37 x 28] = 3,000
7) 2R 110-04 16,000 x 31 X 60A] k= 2,880
8) Az} 110-04 [100,0009 x 3 x 142 = 4,200
9) uFE§) ¥ x| 240-02 | 766,660 x 3 = 2,300
10) 40X 7| DR 2 320-12 |101,520,0009 x11.33%= 11,503

718F — 13H] -

1M — ZEARIAR - wSFFAY
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